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1. Formulae  

a) If P = S + b, find the value of P when S = 6(3 and b = 5(1.
b) If  
[image: image8.wmf], find the value of P when Q = 750, R = 8(5 and S = 7(5.
c) If  
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, find the value of F when C = 15.
d) If  
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, find the value of X when V = 10(2 and W = 1(7.
e) If  
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, find the value of B when  D = 2(56 and E = 0(4.
Round your answers to 1 decimal place, where necessary.

2. Pythagoras

Calculate x in each of the following triangles.
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3. Trigonometry

a) Calculate x in each of the following triangles.

                                





     

                                                                                                                                          
                                                             



b) Eric has to repair the top of the chimney.
How high must he climb to reach the top?

     






c) A fireman uses a ladder to reach a cat trapped in a tree.

Use the diagram opposite to calculate the

size of the angle between the ladder and

the ground.

4. Perimeter and Area 

a) Find the perimeter and the area of each of the shapes below.





b) Calculate the shaded area. 

 





5. Money

a) John works as a car salesman.  He earns 4% commission on all sales.  How much 


commission does he earn if his sales total £36 500?

b) Calculate the interest earned on £350 for 1 year at 6%.

c) David earns £16 000 per year.  He asks for a 7% pay rise and his boss offers him an £1100 

increase.  Is the offer more or less than he was asking for, and by how much?

d) If the exchange rate is £1 = 10(2 francs, convert £200 into francs.

e) Pamela goes to Spain on a business trip.  She changes £300 for expenses at a rate of 200 pesetas per pound (£).  Whilst she is there she spends 18 500 pesetas.  

When she gets home she converts her remaining pesetas back to pounds.

How many pounds does she get?

f) Peter bought a personal CD player for £120.  He sold it for £132.


Express his profit as a percentage of the purchase price.

g)   Express £36 as a percentage of £288.
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